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. Write in brief about basic dysmorphology.
7o feqsmrmast fama w dfaa & fafew)

. Explain dosage compensation with the help of an

example.

Teh IQME 1 FFdl § S &faqfd sl THes |

. Are there favourable mutations ? Discuss.

F IR enveEs Wt B § 2 99eEu

. How Polymerase Chain Reaction (PCR) is helpful
in diagnosing COVID-19 ? Comment.

PCR & WM ®ifoe-19 &1 S # fFd THR T
¥ 7 feoolt wifw)

. What is Segmentation ? Comment upon its

importance in development.

WelHo 1 & ? faem | sHeh! Hew 99w

. Describe the ultra-structure of an egg with the help
of a diagram.

2 HI TW-T=A T TG IO ST |
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Note .— The question paper is divided into two Sections
A and B. Write answers as per the given
instructions.

et - 7' weE- e oR 9 1 wvel # fawifsa § 1 vaw
Tue & FMRUgER T9 % W T

Section-A 8x2=16
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
questions delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks.
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1. (1) How many DNA molecules are there in a
single chromosome ?
TF HHEEH F§ fHa e o) B § 2
(ii)) What does ISCN stands for ?
ISCN =1 qu 9 fafew|
(ii1) Define Robertsonian Translocation.
TeeE TN Sl TR it |
(iv) Write the cause of Tyrosinosis.
RIS &1 SRl fafem |
(v) Name any two Mutagens.
g B & 9 fafem
(vi) What results in Huntington’s disease ?
AT I F M FRT T 2
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(vii) Cell cultures have an optimum pH for growth,
generally between .................... .

FIfeR Fadq # 9fg & fau smey pH ©

(viii) Give the formula for Numerical Aperture
(NA) of a Microscope.

Yercyl & Heas 95 &1 g farew |

Section-B

(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 16 marks.

U —q
(g 3THT q99)

feor .- fo=l 9R 9ol & SW SIfSu MY 9 SW Al

4x16=64

sfasram 200 s H Ui SifSTl TAE 99H

16 3Rt T T |

. Explain Prenatal Diagnosis.
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SHqE A FeE w aEemsT

. Mention the landmarks used to identify the

G-banded human chromosomes with the help of
diagrams.
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